Multiply and Divide by Positive Powers of Ten (I)

Find each product or quotient.

6,652 X 100 = 7,86 :1.000 =
2,095:1.000 = 8,3657 x 1.000 =
9,14:100 = 0,739 X 100 =
7,843 X 100 = 3,15:100 =
8,596 :1.000 = 4,6 X 1.000 =
9,6659:1.000 = 0,31:10 =
8,8428:1.000 = 7,309 X 1.000 =
2,9:10 = 3,205:10 =

2,17 x 100 = 0,3483:10 =
5,032 x 10 = 4,5 x 1.000 =
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ultiply and Divide by Positive Powers of Ten (I) Answe

Find each product or quotient.

6,652 X 100 = 665,2 7,86 :1.000 = 0,00786
2,095:1.000 =0,002095 8,3657 x 1.000 = 8.365,7
9,14:100=0,0914 0,739 x 100 =73,9
7,843 X 100 = 784,3 3,15:100=0,0315
8,596 : 1.000 = 0,008596 4,6 X 1.000 = 4.600
9,6659 :1.000 = 0,0096659 0,31:10=0,031
8,8428:1.000 = 0,0088428 7,309 X 1.000 = 7.309
2,9:10=0,29 3,205:10=0,3205

2,17 x 100 = 217 0,3483:10 =0,03483
5,032 x 10 = 50,32 4,5 x 1.000 = 4.500
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